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A) 0.5			B) 0.1				C) 0.333			D) 0.25
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A) 0.984			B) 0.071			C) 0.929			D) 0.016
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A) 0.162			B) 0.200			C) 0.194			D) 0.837
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A) 11			B) 9				C) 40				D) 20
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A) 300			B) 2700			C) 3000			D) 2999
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A) 0.400			B) 0.615			C) 0.333			D) 0.667
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A) 0.490			B) 0.197			C) 0.817			D) 0.803
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A) 0.03			B) 0.2				C) 0.4				D) 0
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A) 0.945			        B) 0.921			        C) 0.941		                       D) 0.860
In the Venn diagram below, event A represents the adults who drink coffee, event B represents the adults who drink tea, and event C represents the adults who drink cola. 
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4) What is the probability that a randomly selected adult drinks coffee or cola?
A) 0.86			B) 0.69			C) 0.89			D) 0.22
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A) 126			B) 5				C) 362,880			D) 15,120
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20) Use the following graph, which shows the types of incidents encountered with drivers using cell phones, to
find the probability that a randomly chosen incident did not involve cutting off a car. Round your answer to
three decimal places.
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1) A shirt company has 4 designs each of which can be made with short or long sleeves. There are 5 color patterns
available. How many different shirts are available from this company?
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5) How many different codes of 4 digits are possible if the first digit must be 3, 4, or 5 and if the code may not end
in 0?
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11) A sports team has a three game road trip. Use the tree diagram to answer the question.
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List the outcome(s) of the event "They win exactly two games."
A) {[WWL, WLW, LWW} B) {WWW, WWL, WLW, LWW}
C) {(WLL, LWL, LLW} D) {WWL, WLW}
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Determine the number of outcomes in the event. Then decide whether the event is a simple event or not. Explain your
reasoning.
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2) You roll a six-sided die. Event B is rolling an even number.
A) 3; Not a simple event because it is an event that consists of more than a single outcome.
B) 1; Simple event because it is an event that consists of a single outcome.
Q) 2; Not a simple event because it is an event that consists of more than a single outcome.
D) 3; Simple event because the die is only rolled once.
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3) You randomly select one card from a standard deck. Event B is selecting the ace of hearts.
A) 1; Simple event because it is an event that consists of a single outcome.
B) 4; Simple event because only one card is selected.
C) 4; Not a simple event because it is an event that consists of more than a single outcome.
D) 13; Not a simple event because it is an event that consists of more than a single outcome.
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1) Classify the statement as an example of classical probability, empirical probability, or subjective probability.
The probability that a train will be in an accident on a specific route is 1%.
A) empirical probability B) classical probability C) subjective probability
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3) Classify the statement as an example of classical probability, empirical probability, or subjective probability.
In California's Pick Three lottery, a person selects a 3-digit number. The probability of winning California's
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A) empirical probability B) classical probability C) subjective probability
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1) A group of students were asked if they carry a credit card. The responses are listed in the table.

Credit Card | Not a Credit Card
Class Carrier Carrier Total
Freshman 40 20 60
Sophomore 25 15 40
Total 65 35 100

If a student is selected at random, find the probability that he or she owns a credit card given that the student is
a freshman. Round your answer to three decimal places.
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3) A group of students were asked if they carry a credit card. The responses are listed in the table.

Credit Card | Not a Credit Card
Class Carrier Carrier Total
Freshman 49 11 60
Sophomore 12 28 40
Total 61 39 100

If a student is selected at random, find the probability that he or she is a freshman given that the student owns
a credit card. Round your answers to three decimal places.
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1) You are dealt two cards successively without replacement from a standard deck of 52 playing cards. Find the
probability that the first card is a two and the second card is a ten. Round your answer to three decimal places.
A) 0.006 B) 0.994 C) 0.250 D) 0500

2) Find the probability of answering two true or false questions correctly if random guesses are made. Only one of
the choices is correct.
A)025 B) 05 ) 075 D)0.1
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3) A card is drawn from a standard deck of 52 playing cards. Find the probability that the card is an ace or a black
card.

7 15 29 4
A) = B) % C) 53 D) =
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4) The events A and B are mutually exclusive. If P(A) = 0.1 and P(B) = 0.3, what is P(A or B)?
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5) Given that P(A or B) =

A)E

P(A) =

B)

T and P(A and B) =

5

32

= —, find P(B).

17
S

¥

11

e




image22.png
11) One hundred people were asked, "Do you favor the death penalty?" Of the 33 that answered "yes" to the
question, 14 were male. Of the 67 that answered "no" to the question, six were male. If one person is selected at
random, what is the probability that this person answered "yes" or was a male?

A)0.39 B) 053 C) 0.67 D)0.13




image23.png
8) The table lists the smoking habits of a group of college students.

Sex | Non-smoker | Regular Smoker | Heavy Smoker | Total

Man 135 34 5 174
Woman 187 21 10 218
Total 322 55 15 392

If a student is chosen at random, find the probability of getting someone who is a man or a non -smoker.
Round your answer to three decimal places.
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2) A delivery route must include stops at eight cities. How many different routes are possible?
A) 40,320 B)S C) 256 D) 16,777,216
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5) The Environmental Protection Agency must visit nine factories for complaints of air pollution. In how many
different ways can a representative visit five of these to investigate this week?
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2) A delivery route must include stops at five cities. If the route is randomly selected, find the probability that the
cities will be arranged in alphabetical order. Round your answer to five decimal places.
A) 0.00833 B) 0.00032 C) 0.03125 D) 0.20000
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2) A single six-sided die is rolled. Find the probability of rolling a number less than 3.
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3) A single six-sided die is rolled. Find the probability of rolling a seven.
A)0 B)0.1 )05 D)1
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8) In a survey of college students, 840 said that they have cheated on an exam and 1765 said that they have not. If
one college student is selected at random, find the probability that the student has cheated on an exam.

168 353 521 521
A5y 521 B) 521 O Tes 168 D) 35
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17) The distribution of Master's degrees conferred by a university is listed in the table.

Major Frequency
Mathematics 216
English 207
Engineering 63
Business 176
Education 222

What is the probability that a randomly selected student graduating with a Master's degree has a major of
Engineering? Round your answer to three decimal places.




